N & O &

At

o o Al

A

= o
20229 =0la LB SXE M
SH =SNEMY
E: =SUMH 25
Sl XISAS =X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SX &M 31,208,446 29,827,726 1,380,720
= 17,231,476
AlH 9,468,177
T Hl 4,508,793
SXNEH 25t 6,691,383 7,682,300 A990,917
= 2,443,185
Al 2,349,767
-l 1,898,431
KA SXHE 4,605,114 6,193,300 A 1,588, 186
= 858,670
Al 2,080,890
Tl 1,665,554
A ER2 29 328,884 3,378,900 A 3,050,016
307 21201 A 317,884 3,378,900 A 3,061,016
05 RIZt2IEt = 317,884 3,378,900 A 3,061,016
OAM=XN2 24 K& 307,284,000 307,284
OFs=sla g Bx 3,600,000& 3,600
OZFUUOIHE RE3EAY X&
7,000,000& 7,000
401 A& HIZ 201 8] 11,000 0 11,000
01 A& HI 11,000 0 11,000
OAMtglSXI& ZIletddd 11,000, 000& 11,000
NAMBEHHE =8 L EI} 24,000 14,000 10,000
201 Let24d] 2,000 2,000 0
01 At 2teltl 2,000 2,000 0
OXNSABEEHE =8 X EIt EE3
2,000,000& 2,000
207 O] 22,000 0 22,000
01 A3l 22,000 0 22,000
OHMB5Il XNEMBEHHNE 8 89
22,000,000& 22,000
NEAIEHEAM MR 2 56,200 60,000 A 3,800
Al 32,200
1 Hl 24,000
307 21201 A 56,200 60,000 A 3,800
AlHI 32,200
I 24,000
02 HIAFAAFEX 10,000 3,000 7,000
OXNSA2EZE AN SatAtd =&
10,000, 000& 10,000
Al 7,000
I 3,000
03 QI HE2IHE xR 46,200 57,000 210,800




SN SXYBD

g =NEM 23
Sl XISAS =X CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OXNGASIEZEAN 28 X&
43,200,000& 43,200
AlHI 25,200
-4l 18,000
OXgAsIEZEAM 2488 &  3,000,000& 3,000
NSMIE2EEN 29 XA 16,000 16,000 0
201 Let2d] 16,000 16,000 0
01 At 2t 2l 16,000 16,000 0
Os NgAzl2Z €M 29 A&
16,000,000 16,000
2HE SEHESS MY 22 100,000 0 100,000
AlHI 50,000
I 50,000
201 LBt 10,000 0 10,000
AlHI 5,000
T Hl 5,000
01 At 22l 10,000 0 10,000
OHOAHED 29 L REH 75
5,000,000& 5,000
AlHI 2,500
I 2,500
Oz s AR Atddl2el 5,000,000& 5,000
Al 2,500
-4l 2,500
307 21201 A 90,000 0 90,000
Al Hl 45,000
I 45,000
11T A SRAEE = 90,000 0 90,000
ORME SEHS=2 ALY 22 90,000, 000& 90,000
AlHI 45,000
-l 45,000
2z 24 25,114 44,500 A 19,386
201 L2l 20,114 9,500 10,614
01 At 22l 3,000 0 3,000
O&sslz2 2923 ¢ 3,000,000& 3,000
02 =224l 17,114 9,500 7,614
OE=3l& 23R 9,500,000 9,500
OEsEsl& A2YAd 32 1,500, 000& 1,500
OEssl& HERA E= 6,114,000 6,114
405 THebH S| 5,000 0 5,000
01 AL 2 S FH S| 5,000 0 5,000
OB&g/a He)| 2L (HE) 5,000,000 5,000

22Hd XN 135,100 124,100 11,000




SN SXYBD

g =NEM 23
ol KEAIS =X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 135,100 124,100 11,000
02 PIZHEHAHEE 74,200 76,600 A 2,400
OES¢tH AtZHl XI& 74,200,000& 74,200
03 IAHMEE2HHIES 60,900 47,500 13,400
OstHd 294l XN& 60,900,000 60,900
ABIEH 25 XA 2,500 13,700 A 11,200
307 21201 A 2,500 13,700 211,200
02 It S AHE L 2,500 13,700 A 11,200
OAMII=XIAL D235 2,500,000& 2,500
HER3A XE 1,371,800 1,445,000 AT3,200
AlHI 1,308,000
- Hl 63,800
301 LEXZ 1,371,800 1,445,000 AT73,200
AlHI 1,308,000
T Hl 63,800
01 MEI2EZE 405z 1,371,800 1,445,000 AT3,200
OIS o= 1,308,000, 000& 1,308,000
Al HI 1,308,000
OHEERSA ALAZ2S 17,000, 000& 17,000
OAtot= &M =Y 46,800,000& 46,800
SgRSa4 NE 10,000 10,000 0
301 LBEAZ 10,000 10,000 0
01 MEI2ZE 05z 10,000 10,000 0
O=8R3N4 75 A3 100,000 «50E 22| 10,000
EPIE = PNEDNE.| 104,400 104,400 0
Al Hl 104,400
301 LA F 104,400 104,400 0
AlHI 104,400
01 AR 2Z A 53 104,400 104,400 0
OZ2NREN EEZU=E 104,400, 000& 104,400
AlHI 104,400
SHESTHE A2 =SR2 SA| 24,024 24,122 A98
AlHI 12,012
T Hl 12,012
301 LEd = 24,024 24,122 A98
AlHI 12,012
- Hl 12,012
0B A =R RAB A4S 24,024 24,122 A 98
OSHF=SXNEEH AS=SR223 SAHI|
7,0003 «13H*22 128 24,024
AlHI 12,012
T Hl 12,012




2N

M =2UEH 25
Sl XISAS =X CERED
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ME=XAE AIISR2REF SAH| 60,984 34,056 26,928
AlHI 30,492
T Hl 30,492
301 getEd 3 60,984 34,056 26,928
Al 30,492
- Hl 30,492
0B A =R RAB A4S 60,984 34,056 26,928
OMSIEXAE ASI=E22A SAH|
7,0003 33 +22 128 60,984
AlHI 30,492
T Hl 30,492
AN ER2HE XI& 476,362 226,900 249,462
301 LPEHZ 476,362 226,900 249,462
0B A =R RAB S 476,362 226,900 249,462
OMI=RHE XA 454,404
23 676, 1003 x51&H 128 413,774
Sl 2,6003 «51H 22U 123 35,007
- OISl 330,720& 174 5,623
OEHHEE JRE=X 21,958
== 676, 1003 x2H x12& 16,227
wSHl 2,600 x2B #2222 x 122 1,373
- S4H| 7,0003 x2H 22U x 12 3,696
o=l 330,720 2 H 662
HASE o8 DY XA 5,909 16,193 ~10,284
Al HI 5,909
101 1A bl 5,909 15,137 A9,228
Al HI 5,909
M4 JI2ZHZEXNSES 5,909 15,137 29,228
Ox&10 &M WsH XA (12d])
5,909,000 5,909
Al 5,909
D2LH9 23 XotAel X M X &l 1,529,180 316,400 1,212,780
= 764,590
Al HI 509,217
I 255,373
301 LEAZ 1,529,180 316,400 1,212,780
= 764,590
Altl 509,217
I 255,373
01 MEIBEE 253 1,529,180 316,400 1,212,780
O2ZZLH9 2 XorHel At X &
1,529,180,000& 1,529,180
= 764,590
Al 509,217
Tl 255,373




SN SXYBD

g =NEM 23
Sl XISAS =X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZELHY9 NotAelA =SX & 100,000 0 100,000
301 EEd = 100,000 0 100,000
01 Ml2ZE 6= 100,000 0 100,000
OZ2H9 ot t 23 K&
100,000, 000& 100,000
SN 2N A 43,557 43,029 528
201 Let24dy] 16,560 16,560 0
01 At 22/l 16,200 16,200 0
OX<G A 2EH & I MZE 10,0002 1002 1,000
OAMotR=EXESY HatEM S M
20,0003 300K *90% 540
OXYGMEEREAM AAFE M
13,000& 80 1,040
ONA=T o - Bl 283 2
1,620,000 1,620
OsIY=R «¢&s 12,000,000& 12,000
02 2324l 360 360 0
OMl =Skt SEZFEAIAE SHEHTI| 2
& 30,000& « 128 360
203 YR =2l 23,301 23,301 0
03 Al =AY R =& 23,301 23,301 0
OFgU=sX= g4 3,000,000& *90% 2,700
oS0 92 deEd
7,000, 000& %33 *90% 18,900
OAMsl=X g2=2 1,170,000& *90% 1,053
OgSASHYIA BHT 223
720,000 *90% 648
301 LEBA S 3,696 3,168 528
0B M ERRIABHS 3,696 3,168 528
OSXNEHY ML SAH|
7,000 «2H %222 « 123 3,696
SN 2= & ol 5,000 5,000 0
201 Let24E] 5,000 5,000 0
01 At 2t 2l 5,000 5,000 0
OSXARIN 2= 28 2225 MHE 2 2
Zdl 5,000,000& 5,000
A2l & DEIMR A2 S@d X2 AMY 8,500 0 8,500
AlHI 8,500
307 gl2tol & 8,500 0 8,500
AlHI 8,500
11T M SXALSE EX 8,500 0 8,500




2AM: SXEH
I 2R A
(=R B -/ o T

st
&2 XNFAE SXHF (&)
= _ — d =
SA - BB B () - MM - BES Ol &t o e HmEET
ODNY M= MMAIGH ZZ2HME AL HI
8,500,000& 8,500
AlHI 8,500
SHS F0Ile BASXAEBIA ALHBI(S At 22l 134,400 134,400 0
INS=RNECD
= 94,080
AlHI 20,160
I 20,160
201 Let2d] 67,200 67,200 0
= 47,040
Al HI 10,080
I 10,080
01 AP 2teltl 67,200 67,200 0
OSHE #0tdte BASXAMUIA ALHHI(S
SEAtel 22lAlY 2gHl) 67,200,000& 67,200
= 47,040
Al HI 10,080
Tl 10,080
301 LA S 67,200 67,200 0
= 47,040
Al HI 10,080
I 10,080
01 MEIBE X263 67,200 67,200 0
OSHE #0tdte BASXMHIA ALHHI(S
SE At 22l ALY AR XI2Hl) 67,200
67,200,000&
= 47,040
AlHI 10,080
T Hl 10,080
AMZISXAE SAR HRHA 43,200 30,300 12,900
301 LeHBAF 43,200 30,300 12,900
12 J|EtE &= 43,200 30,300 12,900
OAM3l= ABI S XTAF MSIH&H XI&
30,300,000 30,300
OMSIEXIAE ANESAX HRMLH X
12,900, 000& 12,900
| = 2,086,269 1,489,000 597,269
= 1,584,515
Al 268,877
Tl 232,877
Atedl &2l K& 15,000 15,000 0
= 7,500
Al Hl 3,750
I 3,750
e 7,500 7,500 0
= 3,750
Al HI 1,875
I 1,875




2N
X ZH -
L= B

el

EPARSE )
SANEH 23

XS Ate Ls=a

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 At 22l 7,500 7,500 0
OF SeAtdzel X (M2l 2Z4l)
7,500,000& 7,500
= 3,750
AlHI 1,875
el 1,875
301 LEMZ 7,500 7,500 0
= 3,750
AlHI 1,875
T Hl 1,875
01 A3l EE E 56l 3 7,500 7,500 0
OF SeAtdizel XIS (Atdl2telAbS O akxt
XI&dl) 7,500,000& 7,500
= 3,750
AlHI 1,875
I 1,875
22 XX 1,971,269 1,393,000 578,269
= 1,577,015
AlHI 197,127
T Hl 197,127
301 LEXZ 1,971,269 1,393,000 578,269
= 1,577,015
AlHI 197,127
T4l 197,127
01 A3l EE E 56l 3 1,971,269 1,393,000 578,269
Ooz2g =sXXA 1,971,269,000& 1,971,269
= 1,577,015
Al HI 197,127
i 197,127
J=ZEY3 29 40,000 31,000 9,000
AlHI 20,000
2l 20,000
307 21201 A 40,000 31,000 9,000
AlHI 20,000
I 20,000
11T M3 SXASEEX 40,000 31,000 9,000
OJI=#E&%3 29 X 40,000,000& 40,000
AlHI 20,000
T Hl 20,000
JI=FCE0 24 60,000 50,000 10,000
AlHI 48,000
-4l 12,000
307 gl2tol & 60,000 50,000 10,000
Al 48,000
-4l 12,000
11 ALS S XALEE = 60,000 50,000 10,000
OJI=ZE0t2 299 60,000,000& 60,000




SN =SXHHD

E: =2XFY 25

=@ XNFAE Us=d (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Al'H] 48,000
L Hl 12,000

Ots =X & 23,887,916 21,582,829 2,305,087
= 14,512,039
AlHI 7,040,394
- Hl 2,335,483

otsEs 23,887,916 21,582,829 2,305,087
= 14,512,039
AlHI 7,040,394
T Hl 2,335,483

OtssSXN WA ItA XA 253,890 225,450 28,440
= 120,435
Al 120,435
T Hl 13,020

101 @124l 253,890 225,450 28,440
= 120,435
Al 120,435
- Hl 13,020

04 JIZHHZ2XNHESE S+ 253,890 225,450 28,440
OO0ts=X WAt 21HHl S 240,870,000& 240,870
= 120,435
Al 120,435
OOtsSX AL BLH HMRHLH S 13,020
HEF O 300, 000& »14H «23| 8,400
XEE SNEUE 300,000& =143l 4,200
A2 &l 30,000& x14H 420

ASotsde 22H X& 1,251,600 1,166,880 84,720
= 625,800
AlHI 563,220
T Hl 62,580

307 glz2+ol & 1,251,600 1,166,880 84,720
= 625,800
AlHI 563,220
T Hl 62,580

10 AL SXAIEEE2EH EX 1,251,600 1,166,880 84,720
OXgotsd e 2948 XI¥  1,251,600,000& 1,251,600
= 625,800
Al 563,220
Tl 62,580

S+=8d Nd0ots4dH =LA 58,464 58,464 0
= 29,232
Al 29,232

307 21201 A 58,464 58,464 0
= 29,232
Al 29,232

10 ALSISXAIEEE2EHEX 58,464 58,464 0




2N

X{ XH -
S =

el OlEES (chel m )
SA - FE - BI(EA) - NRAY - By 0l &t San DS
OS=+==S"d XNY0tsdE XI& 58,464,000 58,464
= 29,232
Al 29,232
EQRI NFotsdH FIt & 15,360 18,240 A 2,880
= 7,680
Al 7,680
307 glztol & 15,360 18,240 A2,880
= 7,680
AlH 7,680
10 A SIAEHE2EHIEX 15,360 18,240 A 2,880
OXgotsdlH EF FIF A&
15,360,000& 15,360
= 7,680
Al 7,680
Okt g XA0otsHlH X2 25,920 25,200 720
Al 25,920
307 glz2tol & 25,920 25,200 720
AlH 25,920
10 ALSISXAIEHE2EH EX 25,920 25,200 720
Oortdgxdorsd e K& 25,920,000 25,920
AlHI 25,920
ANEotsdH SAX MHA X 172,051 124,700 47,351
Al 148,651
I 23,400
307 212+0| & 172,051 124,700 47,351
Al 148,651
I 23,400
10 A SXAEHE2EHIER 148,651 101,300 47,351
OXNYotsdEH SAR MRMA X
126,360, 000& 126,360
AlHI 126,360
OXZGotsHEH BEAXLF SXANEZAE X
3,900, 000& 3,900
AlHI 3,900
OXY0otsdEH SAX Al =5 X2
18,391,000& 18,391
AlHI 18,391
11T A SXAIEE = 23,400 23,400 0
OXS0otsSHEH SAA SX==Z 23,400,000& 23,400
ANGotsdH T2 XA 42,900 43,620 AT20
Al 42,900
307 21201 & 42,900 43,620 AT20
Al 42,900
10 AL SXNAIEEHE2EH EX 42,900 43,620 AT20
OXgotsde =288l XI& 42,900,000& 42,900
Al 42,900




SM: =2XNEHY
=RV (-

o2 OlEe s (&R
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
NEotsHE ZoAd X3 30,000 30,000 0
= 15,000
Al H] 7,500
T 7,500
307 2Iz2to| & 30,000 30,000 0
= 15,000
Al H] 7,500
Tyl 7,500
10 MM SXANEEHESIGHEX 30,000 30,000 0]
OX<E0otsHdH &H&H XI& 30,000,000 30,000
2 15,000
Al HI 7,500
24| 7,500
NE0otsSHE Hutetidl K& 5,919 5,919 0
Al H] 5,919
307 giztol A 5,919 5,919 0
Al HI 5,919
10 MM SAANEEHESIGHEX 5,919 5,919 0
OXgotsHdH Wty X 5,919,000 5,919
Al H] 5,919
XNEotsHye 22880 X 16,080 16,080 0
= 8,040
Al HI 8,040
201 2Bt Ayl 16,080 16,080 0
= 8,040
Al Hl 8,040
01 AFR 2t 2| bl 16,080 16,080 0
OX<0otsdH Z2I/8E8)] 2diig XA
16,080,000& 16,080
= 8,040
AlH] 8,040
NEotsSHEH S48 RIIE 2EH IR 6,074 5,472 602
= 3,037
Al HI 3,037
307 QI2t0| & 6,074 5,472 602
= 3,037
Al Hl 3,037
10 A EXNANEEHE2IGH EX 6,074 5,472 602
OESA&HMRIIE 29| 6,074,000 6,074
= 3,037
Al H] 3,037
CtetNsE4dE EXH XA 140,000 140,000 0
= 90,000
Al H] 50,000
402 BI2H X 20| M 140,000 140,000 0
= 90,000




2N

X{ XH -
S =

e OtsE S (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al'HI 50,000
03 212t EF A HI 140,000 140,000 0
OUEN s MY (4Xdl) 140,000,000 140,000
= 90,000
Al HI 50,000
CetN=ss4dEe 24 X 73,500 53,000 20,500
= 9,750
Al Hl 9,750
24| 54,000
307 QI2t0| & 73,500 53,000 20,500
= 9,750
Al HI 9,750
24| 54,000
05 QIZtREZ 73,500 53,000 20,500
ousNessdd 2<9dl XK (KA)
54,000,000 54,000
OusgNssdH 2¥9H XNA(EX)
19,500,000 19,500
= 9,750
Al HI 9,750
Ctetlssde o1l XN 304,320 263,300 41,020
= 143,650
Al Hl 152,270
24| 8,400
307 QI2t0| & 304,320 263,300 41,020
= 143,650
Al Hl 152,270
24| 8,400
10 Al EXNANEEHE2IH EX 295,920 263,300 32,620
OUsN=sHE 1Hd X 287,300,000& 287,300
= 143,650
Al HI 143,650
OUSN=sHEH SAIAN SAEAE XS
300,000& 300
Al HI 300
OUSN=sHEH SAHN HdR2MAH K
3,900,000& 3,900
Al HI 3,900
OUEN=sSHE SAIA Al Z22422 X
4,420,000 4,420
Al HI 4,420
11T AISIEXAIEEX 8,400 0 8,400
OUEN=8HEH SAN EXNE
8,400,000& 8,400
Hel0l=0le &L OIsSEAEAIAE 22| 603,000 3,000 600,000
401 AlEHIZL 201 Y| 603,000 3,000 600,000
01 Al&H| 603,000 3,000 600,000




2N

=RV (-
@2 OIsE s (SHe &)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O0E0l=0l8 & OtsSHEHAEAIE 22
3,000,000& 3,000
Ooglol =0lAd =4 600,000,000& 600,000
OtSZESEA =4 41,300 20,980 20,320
201 L2l 38,000 18,080 19,920
01 At 22l 33,000 13,080 19,920
Oo0ts&del olains L dstEA 88 S
26,000,000& 26,000
O0ts&ENIIF s 2¢ 7,000,000& 7,000
02 8323l 5,000 5,000 0
OOSESEA =& NSLHEH2S AFIH|
5,000,000& 5,000
203 YR =] 900 900 0
03 Al =X A2 =LY 900 900 0
OOtSZSE A =2 2E F2AI|2 S RE2
1,000,000& *90% 900
301 LPEAF 2,400 2,000 400
09 HALAHIX &S 2,400 2,000 400
OOts&E0WIIF? 0 S Al 2,400,000 2,400
4 - des OtssaXA 1,762,020 1,051,697 710,323
AlHI 1,219,860
- Hl 542,160
308 XXX S0 A 1,762,020 1,051,697 710,323
Al 1,219,860
-4l 542,160
113/ 2SoHUHSBHEAEALS I 1,762,020 1,051,697 710,323
OCdg - &ss ots=a XA 1,762,020,000& 1,762,020
Al HI 1,219,860
2l 542,160
E-2F5Y ors=saX& 283,140 285,986 AN2,846
AlHI 261,360
-l 21,780
308 XXl S0IA 283,140 285,986 N2,846
AlHI 261,360
I 21,780
N 3JN2SUHUS3AHAE A 283,140 285,986 A2,846
OE -B38Y O=s=4a XA 283,140,000 283,140
AlHI 261,360
-4l 21,780
Ots=% XI& 15,285,000 15,157,215 127,785
= 12,228,000
Al 2,139,900
Tl 917,100
301 LENF 15,285,000 15,157,215 127,785




2N

X{ XH -
S =

g otseE s (9%_@%)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 12,228,000
Al HI 2,139,900
T 917,100
01 Al B & A 46 2 15,285,000 15,157,215 127,785
Ootsx4 XA 15,285,000, 000 15,285,000
= 12,228,000
Al H] 2,139,900
T 917,100
Ols 4% AIY 29 1,500 4,091 A 2,591
= 1,050
Al Hl 450
201 et 9| 1,500 4,091 A 2,591
= 1,050
Al HI 450
01 AR 22l ] 1,500 4,091 A 2,591
O0l=sE4Y AIY 29d| X2 1,500,000 1,500
= 1,050
Al H] 450
OlSUSAIA(OHOI ) MH X 181,667 181,667 0
= 163,500
Al H] 18,167
301 et A= 181,667 181,667 0
= 163,500
Al H] 18,167
01 Al E & A 462 181,667 181,667 0
OIS ASFAIE(HOIR) MAH XA
181,667,000 181,667
= 163,500
Al H] 18,167
OIS USAIAE(HOIY) 24 & 1,393,063 1,393,063 0
Al H] 1,393,063
307 2Iz2t0| & 1,393,063 1,393,063 0
Al H] 1,393,063
10 M3 SXAEEHESIGHEX 1,393,063 1,393,063 0
O0l=sU=S A& (0H0IY) 29 AN
1,393,063,000& 1,393,063
Al H] 1,393,063
OlSUSAIE(HOIY) AESH X 46,900 46,900 0
Al H] 46,900
301 et M= 46,900 46,900 0
AlH] 46,900
01 Al E& A %52 46,900 46,900 0
QOIS US AL (H0IY) HEESAHASH XA
46,900,000 46,900
Al H] 46,900
OlSASAIE(0HOIY) otd 2 L SHINL XS 2,965 2,965 0




SM: =2XNEHY
=RV (-

e OISES (&2 &H)
SA - BB B () - MM - BES Ol &t o San HmEET
Al'H] 2,965
307 glz2tol & 2,965 2,965 0
AlHI 2,965
10 AL SXAIEEE 2 H EX 2,965 2,965 0
OOtSLSAIL(0HOIRE) otd e Y SHHHA
Hl X & 2,965,000 2,965
AlHI 2,965
QESOls SsMEIE(otsM) =< 82,443 82,443 0
= 32,977
AlHI 49,466
307 glz2tol & 82,443 82,443 0
= 32,977
AlHI 49,466
10 AL SXAIEEE 2 H EX 82,443 82,443 0
SSMEIHE(St=H) 224, 21244 K&
82,443,000 82,443
= 32,977
AlHI 49,466
LESOs SSMEINF(Gt=M)2F (AlHl) 58,644 41,140 17,504
AlHI 58,644
307 gl2tol & 58,644 41,140 17,504
Al 58,644
10 AL SXNAIEEE2EH EX 42,196 33,500 8,696
2SMEIFE(ctsM) SAL X2 X
11,400,000& 11,400
AlHI 11,400
OZSSMEINH(3tsM) BML SXNEAE X
2 400,000& 400
AlHI 400
OSSHEINE(GtsM) SMA A2 RsE
1,880,000 1,880
AlHI 1,880
Oslfulciotsd e SSMEIF(slsl) =<
K& (MEXIZ A 27,616,000 27,616
AlHI 27,616
OIS sMEIIE (ots) 222l X
2 900,000 900
AlHI 900
11T M SRAISE EX 16,448 7,640 8,808
SSHEIY(StsMH) Es0ts X&
16,448,000& 16,448
AlHI 16,448
stiiOloliols e (2dsY) 2<% 180,305 180,305 0
= 72,122
AlHI 108,183
307 21201 A 180,305 180,305 0

W

72,122




SM: =2XNEHY
=RV (-

e OlsEs (2 &HH)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al'H] 108,183
10 AR SEXAIEEE2IHIEX 180,305 180,305 0
Osfuloiols g (dsY) 249
180,305, 000& 180,305
= 72,122
Al HI 108,183
StHOloiolSa e (22Y) S X2 (AlH]) 24,200 21,380 2,820
Al H] 24,200
307 QI2t0| ™ 24,200 21,380 2,820
Al H] 24,200
10 Al SXAIEEE2IHIEX 17,620 14,800 2,820
OstiiuloiolsS e (2ds8Y) SAL XY
X & 14,300,000& 14,300
Al H] 14,300
OSHIIHOIS HE (LTY) BAK SXEAE
X & 500,000 500
Al H] 500
OstUloHolSEHE (LEY) SAIL A2t
X & 2,820,000& 2,820
Al H] 2,820
11 AMISAAEEXR 6,580 6,580 0
OstiiulioiolsSaEHE(2¢sY) Ol HEEH At
A Hl XN& 6,580,000& 6,580
Al HI 6,580
M8 /EOsS =2 K& 106,200 106,200 0
Al H] 106,200
301 et M= 106,200 106,200 0
Al H] 106,200
01 M BEE2G2 106,200 106,200 0
OJIdAEs 22 I 106,200, 000& 106,200
Al HI 106,200
IME/AEOS S UstsE2 N 24,500 24,500 0
Al H] 24,500
301 dEtE M= 24,500 24,500 0
Al H] 24,500
01 M EXEE G2 24,500 24,500 0
OJ8/Es s Ustss2 NA
24,500, 000& 24,500
Al HI 24,500
M8 EOsS 5 NEEEZ XA 90,000 90,000 0]
Al H] 90,000
301 et M= 90,000 90,000 0
Al H] 90,000
01 M EEE G2 90,000 90,000 0




SM: =2XNEHY
=RV (-

2 OS2 S (e H)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %E& HRE2
OJIE+E0ls & Ng8a2 Ad
90,000,000 90,000
Al HI 90,000
B8s&5=s0s Mg XN 324,000 136,800 187,200
= 259,200
Al HI 64,800
301 et X = 324,000 136,800 187,200
2 259,200
Al HI 64,800
01 AR E & A 462 324,000 136,800 187,200
OBSE=0ts Ngx=g X 324,000,000& 324,000
= 259,200
Al Hl 64,800
QIUOISIIEX K (L U0ls 2422 XH) 108,000 108,000 0
= 75,600
Al HI 32,400
301 et A =2 108,000 108,000 0
= 75,600
Al HI 32,400
01 Al B & A 462 108,000 108,000 0
OYYOISHENA(YA0S LS+ )
108,000,000 108,000
2 75,600
Al HI 32,400
UAOISIIEN R (U A==24D|2t B2 X) 2,100 2,100 0
= 1,470
Al HI 630
301 et A =2 2,100 2,100 0
= 1,470
Al HI 630
01 Al E& A 46 2 2,100 2,100 0
OYUSOISIHENA (L= LN BB
INEED) 2,100,000& 2,100
= 1,470
Al HI 630
QIUOISIIEX (L LHIE XY) 2,700 2,700 0
2 1,890
Al HI 810
301 et A= 2,700 2,700 0
= 1,890
Al HI 810
01 Al E & A 462 2,700 2,700 0
OYYOISIHENH (LAHIS XI)
2,700,000& 2,700
= 1,890
Al HI 810




SM: =2XNEHY
=RV (-

ol OtsE s (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
QL=ol=s N& 1,000 1,000 0

AlHI 1,000
301 LEM = 1,000 1,000 0
Al 1,000
01 Ml2ZE 6= 1,000 1,000 0
Oged=dtz XA 1,000, 000& 1,000
AlHI 1,000
QY- IERE Ots delxlzd X3 3,000 3,000 0
= 2,100
AlHI 900
301 LEXS 3,000 3,000 0
= 2,100
AlHI 900
01 M3IBZE+06l= 3,000 3,000 0
Og - JIEfe ots delxlagdl XN&
3,000,000& 3,000
= 2,100
AlHI 900
Ots2Y XA (CIENIEH) X 660,608 216,411 444 197
= 462,426
AlHI 198,182
301 LEEHZ 660,608 216,411 444 197
= 462,426
AlHI 198,182
01 MEIEBEZE 45z 660,608 216,411 444 197
Ootsgg XEAHAZ(CISHASE) N
660,608,000 660,608
= 462,426
AlHI 198,182
Ots=X ALY 24 2,295 2,295 0
201 LB-2E| 2,295 2,295 0
01 At 2t 2l 2,295 2,295 0
Ooots - 8axd 2228 S 2,295,000& 2,295
IIERE =SSP 1,500 0 1,500
AlHI 1,500
301 LEBEAS 1,500 0 1,500
AlHI 1,500
01 MBI2BZE 05z 1,500 0 1,500
OJgq&s =324 XN&  1,500,000& 1,500
AlHI 1,500
OtSSHEAL 233 AFY 7,188 0 7,188
201 Let24d] 4,188 0 4,188
01 At 22l 3,000 0 3,000




SM: =2XNEHY
=RV (-

& otsES (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ootsstifug ns & & 3,000,000& 3,000
02 =224l 1,188 0 1,188
OsUds 23 33,0003 =30 1201 & 1,188
307 gl2tol & 3,000 0 3,000
01 d=zL =4l 3,000 0 3,000
Oulsiots xlzHl 2 BA S 3,000,000& 3,000
FHAHNE OlsSEMEIA XA 180,600 201,010 A 20,410
= 136,480
AlHI 17,060
-l 27,060
201 L2l 114,600 135,010 220,410
= 83,680
AlHI 10,460
T Hl 20,460
01 At 22l 111,600 131,010 219,410
OEgARE Z20# 2 2% 101,600,000 101,600
= 81,280
AlHI 10,160
-4l 10,160
OLEEAERE A2S&E7 M4 10,000, 000& 10,000
02 =224l 3,000 4,000 21,000
OZ232R= 3,000,000& 3,000
= 2,400
AlH 300
-4l 300
202 oidl 10,000 10,000 0
= 8,000
Al 1,000
Tl 1,000
01 = LH YI 10,000 10,000 0
OLEAERE MNIASEH 10,000, 000& 10,000
= 8,000
AlHI 1,000
- Hl 1,000
203 R =&l 2,000 2,000 0
= 1,600
AlHI 200
I 200
03 A F=XH S =ZH| 2,000 2,000 0
OEEAHE 22FA 2,000,000& 2,000
= 1,600
Al 200
-4l 200
301 LBEAF 2,000 2,000 0
= 1,600
Al Hl 200




2N

X{ XH -
S =

el olsEs CERED
SA - BB B () - MM - BES Ol &t o San HmEET

-t 200

12 JIEtE4 3 2,000 2,000 0
OUEE XA SEIF 24 2,000,000& 2,000
= 1,600
Al 200
- Hl 200

307 21201 A 52,000 52,000 0
= 41,600
Al HI 5,200
I 5,200

11T AL SXAEE = 52,000 52,000 0
O=gdl|aZ=z1d 24 X 52,000,000& 52,000
= 41,600
AlHI 5,200
4l 5,200

OISESdEE A At 22,000 0 22,000
= 17,600
AlHI 2,200
T Hl 2,200

201 LB-2E| 8,000 0 8,000
= 6,400
AlHI 800
T Hl 800

01 At 2t 2l 6,800 0 6,800
OJl1224t| 6,800,000& 6,800
= 5,440
Al 680
4l 680

02 =24l 1,200 0 1,200
O=324gHl 100,000 1200 & 1,200
= 960
AlHI 120
L Hl 120

301 LEEAZ 14,000 0 14,000
= 11,200
AlHI 1,400
T Hl 1,400

01 MEIBZE 06z 14,000 0 14,000
OAMHIA2ZHI 14,000, 000& 14,000
= 11,200
Al 1,400
- Hl 1,400

OlSEMIFE A AHEBSI(SHE HLFHIXH) 10,000 0 10,000
= 5,000
Al HI 2,500
I 2,500

405 TtabF S| 10,000 0 10,000




SM: =2XNEHY
=RV (-

e OISES (&2 &H)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 5,000
AlHI 2,500
T Hl 2,500
01 AL EZFH S 10,000 0 10,000
OOtssttHEAL =HSE Fd P2l
10,000, 000& 10,000
= 5,000
Al 2,500
I 2,500
HAHSFHNEH 7,000 6,500 500
HAANSFHNE 7,000 6,500 500
IAUUOIIHE XI& 7,000 6,500 500
307 gl2tol & 7,000 6,500 500
11T M SXASE EX 7,000 6,500 500
OYFLUOIIE W Bots HII2
7,000,000 7,000
HE2IAZH (S E ) 622,147 556,097 66,050
= 276,252
Al 78,016
T Hl 267,879
el 2l 530,904 471,524 59,380
= 276,252
Al 78,016
-l 176,636
S A &2l Ab el A4l XIT& 212,079 191,837 20,242
= 83,292
Al 41,646
Tl 87,141
101 @124l 188,624 187,669 955
= 79,692
Al 39,846
I 69,086
03 B2 (RIAHA)2Z2NE S 188,624 168,772 19,852
OSE A 22l AL 212HHl S 188,624
=3, Ao+, HENYS S
31,876,800& x5H 159,384
= 79,692
AlHI 39,846
L Hl 39,846
Secl =l 29,240
- EsE 180,000& =122 2,160
- ZHgAY| 140,000 x5H «12& 8,400
- HEF Ot 1,905,000& *5H 9,525
-ARSFIISE 1,831,000 x5 9,155
202 044l 16,800 0 16,800




2AH: SRS
M HY2IZH (SN D)
chel: ol 2y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
= 3,600
AlHI 1,800
T Hl 11,400
01 = LH o4 1l 16,800 0 16,800
S0 120,000& 5 128 7,200
= 3,600
AlH 1,800
T Hl 1,800
OBFCHI(FHIXHA) 160,000 x5H 123 9,600
303 Z&f 3 6,655 4,168 2,487
02 da0= 6,655 4,168 2,487
O8NS 1,331,000& x5H 6,655
Ots S At 2t el At 214 dl XI& 154,814 159,872 A5,058
= 102,400
AlHI 12,800
I 39,614
101 1A Hl 150,124 155,289 A5,165
= 102,400
AlHI 12,800
I 34,924
03 B2 (RIAHA)2Z2RHE > 150,124 155,289 A5,165
OO0ts S E At 22l A 1 24| 150,124
23, Aeag, HANYS S
32,000,000& »4H 128,000
= 102,400
AlHI 12,800
T Hl 12,800
L 22,124
- SEF 0t 1,886, 170& x4H 7,545
- ZUgAlY| 140,000 x4H 123 6,720
-iE=g 60,0003 »4H 128 2,880
-ARRESFIIE 103,720& x4H x 12 4,979
303 Z& 3 4,690 4,583 107
02 da0= 4,690 4,583 107
OF=n PAJ0 = 1,172,470& x4H 4,690
OSSR AKX SAZ S XA 21 4H] XI& 42,847 15,390 27,457
= 14,000
AlHI 14,000
I 14,847
101 @124l 38,314 13,844 24,470
= 14,000
Al HI 14,000
I 10,314
03 2R (RIAHA)2Z2NHE S 38,314 13,844 24,470
OOtS =X WAHXI LA S XA Q124H] 38,314




2N
X ZH -
L= B

el

re 02 Ji

R
HEedPH (SN YD)
=2l

M. (3H) - HEAY - B2 ﬁlf& HDS2
gz, EaNEga S 2,700,000 x12& 32,400
= 14,000
Al Hl 14,000
sl 4,400
- Sl FMY| 5,914
- SE S| 926,970& *23| 1,854
- =24l 140,000& = 12& 1,680
-IIESY 60,000& x12& 720
SR ESEIY 103,720& 16 1,660
202 04| 3,360 400 2,960
01 2L Y| 3,360 400 2,960
O 2o dl 280,000& 128 3,360
303 A2 1,173 1,146 27
02 A= 1,173 1,146 27
O dumao= 1,172,470& 1,173
OlsSEsdEY o1AHdl X 121,164 104,425 16,739
= 76,560
Al H] 9,570
2| 35,034
101 @121l 110,000 100,219 9,781
= 76,560
Al HI 9,570
2| 23,870
02 JIEt& E £ 71,858 63,995 7,863
O OSESHE A2t JIHN (92 &4 E)2d 71,858
23, AM2e 22 HE82 &
62,919,000& 62,919
= 50,335
Al H] 6,292
Tl 6,292
tEx< 60,000& *2H x12J4 & 1,440
HHZAH| 140,000& *»2H 1201 & 3,360
ol & st 50,000& *2H x12J4 & 1,200
AL AbH| 6,010 x2H x77 Al 2+ 926
ExXRaG 83,8703 2 1201 & 2,013
03 2L (LIH) 22X 38,142 36,224 1,918
O sSESHES(RIIAH 19 38,142
23, N2t 22 H8E S
32,781,000& 32,781
= 26,225
Al H] 3,278
T4l 3,278
HAE S| 1,803,000& 1,803
HHZAH| 1,680, 000& 1,680
s 480,000& 480




SH =XEHY
B AR (SNEHDY)
chel: ol gyl CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
s ESsIE 1,398,000& 1,398
202 oddl 10,080 3,360 6,720
01 = LH 4 1l 10,080 3,360 6,720
O=Uotl (LIIH2Y , s2E1Y)
280,000& 3 =121 = 10,080
303 Z& 3 1,084 846 238
02 4&0= 1,084 846 238
OdBad=2 (S2E1Y) 1,084,000 1,084
Jl2Z3l 91,243 84,573 6,670
Jl2&tl 91,243 84,573 6,670
201 Let24d] 20,719 16,941 3,778
01 At 22l 18,719 16,941 1,778
ORNEZ2E+=EHl 8,748,000 8,748
OJlege=d Sl 9,331,000& 9,331
Ofs4 29l 640,000& 640
02 =224l 2,000 0 2,000
OosE= 2,000,000& 2,000
202 oddl 63,504 61,152 2,352
01 = LH o4 1l 63,504 61,152 2,352
OJI2gS=30bl 280,000 *27Hx12& x70% 63,504
203 YR =&t 7,020 6,480 540
01 JI22E 2= 2,700 2,700 0
OJI228 R =al 3,000,000 *90% 2,700
04 FN2ELRZ=TH| 4,320 3,780 540
ORAM2IYRFLHI 4,800,000& *90% 4,320




